Mul-Neg-L1 Set1

Question 1 [25 marks] Question 2 [25 marks]
0: 7TX6=42 0. 1 x10 =10
L 1x12=_ 1 x2=
2:8x12=__ 23X 8=
3 6x1=___ 3 10 X 6 =
4:6x11=_ 4: DX H=
5 IIXx7T=_ 5 9x 11 =
6: 10 x8=___ 6: 2X 8=
7 9X5=__ 7. 12x9 =
8 6XT=___ 8 6 x 12 =
9 1xd5=__ 9. 9x1=
10: 2x12=__ 10: 3 X 3=
m:2x10=_ 11: 8 X 7=
122 10x9=___ 122 3 X 8 =
13 1l xd=_ 13: 11 X9 =
4 0x1=_ 14: 6 X6 =
B OX8=___ 15: 4 x4 =
6: 9x2=___ 16: 10 x 12 =
1 Ixd=__ 17: 8 x 10 =
18 11 x8=_ 18: 10 x 12 =
19: TX2=___ 19: 4 X6 =
200 OXx10=___ 20: 12 x4 =
20 9XT=__ 21: 4 X 2 =
222 8X3=__ 22: 6 X 6=
2 4dx1l=_ 23: 1 X 2=
2%4: dxXb=____ 24: 10 X 5 =
25: 3X2=___ 25: 1 X 10 =
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Question 3  [25 marks] Question 4  [25 marks]
0 7Tx11 =77 0: 10 x9 =90
L 7Tx10=___ 1 11 x4=
2 10x1l=_ 2. 2Xb=
31 xXd=__ 32 1 xb=
4 12 x 11 = 4: Ix 3=
5 0Xx6=___ 5 2x 10 =
6: 2X2=__ 6: 10 x 4 =
7 11x10=___ 7. 3 x 12 =
8 3xXx4d=___ 8 4x9=
9 3X8=_ 9: 9x 11 =
10: 4x8=____ 10: 4 X 6=
m: 7Tx6=__ 11: 2xX9 =
1223xXx9=___ 12: 11 x9 =
3 I x7T=_ 13: 1 x2=
14: 12x3=__ 14: 4 X6 =
5 T xX6=___ 15: 10 x 4 =
6: TxX4d=___ 16: 6 X 12 =
1 12x1=_ 17 3 X4 =
182X 7= 18 1 x1=
19: 4X2=__ 19: 10 x 4 =
200 4X5=__ 20: 9 X 3=
21: 10 x9=__ 21: 5 X 12 =
220 2X3=__ 222 TxX 1=
23: 2x11=_ 23: 3 X 12 =
24: 8x10=___ 24: 4 X 8 =
25: 9x12=___ 25: DX D =
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Question 5 [25 marks] Question 6 [25 marks]
0 bx4=20 0 7Tx1=7
LT xXl=_ 1 4x10=
22x12=__ 2: 4 x9=
3 3x1l=__ 3 3x9=
4:3x1l=_ 4: 2 X8 =
5 6x12=___ 5 7TX7T=
6: 3x12=__ 6: 2x 11 =
7 12x3=_ 79X 3=
8 12x8=_ 8 2xX3=
9 4dxd=_ 9: o x 11 =
10: 4x6=____ 10: 2x4=
m: 1lxd=__ 1: 7xX 9=
122 0xX12=___ 122 2x 11 =
13:6X3=___ 13: 11 x 8 =
4: 6xX8=___ 14: 7 x 10 =
5: 8x12=__ 15: 1 x 10 =
6: 11 x10=__ 16: 4 X b =
1 3X2=__ 17 7T X5 =
18 I9x4d=_ 18: 7 X5 =
19: 6x12=__ 19: 6 X 7=
200 6X9=___ 20: 6 X 6=
21: 11 x8=___ 21: 7 x 10 =
222 9Xx2=__ 22: 3 X 3=
2 TXT7T=__ 23: 4 X 9=
2%: 12XxX6=___ 24: 4 x 1=
25: 9Xx6=__ 25: 5 X 10 =
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Question 7 [25 marks] Question 8 [25 marks]
0: 9x9 =281 0: 10 x 5 =50
LTx12=_ 1 8X 8=
2:2X6=____ 2. 10 x 2 =
37T x4d=____ 3 10 x 12 =
4:0xX4d=___ 4: 12 x5 =
54dx4d=_ 5 9x 11 =
6: 12x10=___ 6: 7x 10 =
72 4x12=_ 7. 12x 10 =
8 12x9=__ g 11 x5 =
9. 6x9=____ 9: 11 x 12 =
10: 4X6=___ 10: Hx 1=
m:2x1l=__ 11: 2 X 8 =
12: TX2=__ 12 Hx 11 =
13 10x2=___ 13: 10 X 6 =
4: 3x4=____ 14: 8x 1=
5 12x4d=_ 15: 5 x 10 =
6: 1x4d=_ 16: D X D =
1m 6x9=____ 17: 10 x 10 =
18 Tx12=__ 18: H X 8=
19: 6 X8=__ 19: 12 x9 =
200 9IX3=___ 20: 6 X 7=
2. 8X9=___ 21: 1 X9 =
220X 11l=__ 22 1 X b=
23 2X2=__ 23: 6 X 10 =
2%4: 8X3=__ 24: 12 X 7 =
25: 8x10=___ 25: 10 X 9 =
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Question 9  [25 marks] Question 10 |25 marks]
0 5 x (—12) = -60 0 6 x (—12) = -72
LOX (=)= EIx(=10)=
2 6x(—2)=__ 2 9x(—12)=
5 6% (—6)=___ podx(-1)=___
L8 (-2 =_ L 6x(—3)=__
sllx(-12)= sAlx ()=
6: 8% (=8 = 6: bx(-1)=__
R P Tx (A=
gAx(—1)=__ s 10x (—-10)=
9: 8x(=5)=___ 9 6x(-1)=__
09X (—12) = o Ix (—4)=
w8x(=3)=__ mAx(=2)=__
2 12 (—10)= 2 Ax (=B =
g Ix (1) = gdx (—12)=
8 (—8) = w2x (-9 =
s 12x (=)= 5 10X (=6)=
6 TX(—6) = 6 6x (—8) =
i Tx (=B = 7 10x (<5) =
56X (—9) = 5 6x (<) =___
0 2x (<2)= 10 3% (<5) =
202X (<9) = 20: TX(~9) =
o 10x (—4)= o 1 x (=T)=
29X (—10)= 2 0% (—11)=
26X (—6)=__ 2w 3x (-12)=
2 10x (—=8) = 2w 5X(=9) =
23X (—5)= 2 12x (=B)=
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Question 11 |25 marks] Question 12 [25 marks]

0: 12 x (—6) = -72 0: 8 x (—8) = -64

12X (=T)= P TX (=)=
23x(—6)=__ 24x(-1)=
3 11x(=3)=_ 39X (-1)=__
i 8x(=3)=___ 4 12x (—6)=____
5O (—=5)=__ Ax (=2 =__
6 dx (—6)=___ 6 10x (—8)=___
10X (-12)=__ rlx(—4)=__
g Ix(=9)=__ g I9x(=H)=__
9 9x (-10)=__ 9 dx(=3)=__
10: 8X (=7)=_ 0 1Ix(=8)=___
11X (=10)= A (—8)=____
122X (-4)=_ 124X (—4)=_
13: 6 (—6)=__ 133X (=12)=__
1w 8X (-9)=___ Ax(—6)=__
1 ITX (=)= 15 TX(—=8)=___
16: 8X (=8)=_ 6 8X (-7)=__
i lx (=10)=___ 7 10 (—11) =
18 6 (—11)= 182X (=6) =
19: 9X (=8)=__ 19: 2X (—4)=___
20: 3% (=T)=____ 200 9% (=9)=__
o1 A (=10)=____ o1 6x (—11)=____
22 5x (—=3)=___ 2 5x (—12)=__
23 TX (=5)=__ 23 12X (=7)=
o 8% (—12)=___ o4 OX (=1)=____
25 AX (=3)=__ 25 HX (—6)=__
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Question 13

0: 1 x(=2)
1 7x(=9)
2 5 x (—4)

3 12 % (-5

10: 11 % (-4)

11: 10 x (—10)

25 marks]

122 7TX(=3)=

)
13 1 x (=7)

14: 12 x (—6) =

15: 9 x (—12

16: 12 x (=7) =

17 1 x (=12

18: 12 x (—11)

19: 1% (—6)
20: 5 % (—6)
21 1% (—9)
2. 2 % (—7)
23 6 X (—5)

24: 10 x (—3

25: 10 x (—8)

Question 14

0: 2 X (—8)
1. 4 x (—6)

25 marks|

=16

2 12x (=5)=___

3 1 x (=5H)

g1l x (-10) =

10: 4 X
11: 9 X
12: 6 X
13: 3 X
14: 1 %
15: 8 X
16:
17:
18: 2 X
19: 2 X
20: 6 X
21: 7 X

22: 8 X

23 12x (=3)=___

010

7 September 2014
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Question 15 |25 marks] Question 16 |25 marks]
0 4% (—4) = -16 0: 5% (—12) = -60
LOx (3= X (D)=
2 9x (—d)=__ 2 T ()=
5 6x(—9) = 3 10x(-9) =
L 6x(—3)=__ L TX(-8) =
slx(—12)=_ 510X (-1)=
6 10x (—6)= 6 8x(—10)=__
P Alx (=B = P lx(—10) =
g 2x(—d)=__ s 10x (<1)=_
0 6x(-2)=__ 0 12x (—4)=
03X (=)= 0 10X (-T)=
12X (—12)= A (=9 =__
o Ix(=2)= o 5x ()=
13 10x (<10)= 3 Ix (=)=
e 12x (=9 = w2x (<) =
e Ix (—4)= 5 10X (—12)=
6 0% (<1)= 6 6x (=3)=
712X (<8) = 73X (-8) =
s Ix(=5) = 8 Ox ()=
19 8x (—6)= 0 5x (—1)=__
20 8x (<1)= 20 dx (—6)=
o 8% (=9) = ot 5X (=)=
2 3x (-12)= 2 2% (<2)=
2 Ox (<1)= 2 2% (<10)=
2 2% (—6)= o T (<10)=
2% Ox (—8)= 2w Ox ()=
010 7 September 2014 8
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25 marks|

Question 18

25 marks]

Question 17

Mul-Neg-L1
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Question 20

25 marks]

Question 19

Mul-Neg-L1
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25 marks|

Question 22

25 marks]

Question 21

Mul-Neg-L1
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25 marks|
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Question 24

25 marks]

Question 23

Mul-Neg-L1
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25 marks|

Question 26

25 marks]

Question 25
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25 marks|

Question 28

25 marks]

Question 27
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25 marks|

Question 30

25 marks]

Question 29
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25 marks|

Question 32

25 marks]

Question 31
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Question 33 |25 marks] Question 34 |25 marks]
0. (=5) x (=7) = 35 0 (—4) x (—8) = 32
1 6% (—6) = L10x6=_
2 (—11) x (=6) = 2 (—12)x1l=_
3 (=T)x 2= 3 2x 2=
P 2XT=_ e (CD)x(-8) =
5 (—1) x 1= s (-l x(-12)=
64X 6= 6 3% (—11) =
7 2% (=2) = r (-l x (=)=
s (—7) % 0 = s 0x 1=
9: 7 x (=8) = 9 (=H)x12=__
10 4 % (=7) = 0 (T xd=___
10X (—1)=__ 2% 5=
2 8x1l=_ 2 10X (=3)=
13 2x 1= 159X 3 =
14 2 % (=5) = 14 (—9) x 6 =
5 Ox2=_ 5 (<10) x (=9) =
6 (<10)x 0= 16 7 x 10 =
7 Ox (-10)= ()=
s Tx8=__ 8 2x ()=
10 (—7) x 9 = 0 8x (—8)=
200 5 X 1= 200 (—1)xb=__
ot (=3) x (—=6)= o1 4 X 9=
2: (—10) x (—1) = 2 (<) x (—4)=
S I 2w (~1)x12=__
2: 7 x (=3) = 2 10x10=
25: (—8) X 4 = 2 (<10)xT=
010 7 September 2014 17
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Question 35 |25 marks] Question 36 |25 marks]

0: 11 x 9 = 99 0: (=7) x (—4) = 28

L 8x (—6)=____ (1) x9=__

2 6x1= 2 1Ilx(-2)=_

3 12 x (—8) = 3 0xX 7=

4 (=2)x(-11)= 4 10x(-1)=

5 (—9) x8=____ s (—10)x1=___

6 3% 0= 6 10x (—9) =

(-1 x(=5)=__ m3x6=__

8 10x9=___ 8 IX2=

o (~10)x2=__ 0. 1 x (—2) =

10: 1 x(=5) = w0: (=2)x(=11)=_

1m: (=9 x(-9)=_ 1 Tx(-3) =

129X T=____ 12 (—2)x5=____

13: 9X 7T = 13: DX 1=

1 (—6) x(=3)= 14: (—10) x (=3) =

15 (—12) x (=2)= 15 (=3) x(=9)=

16: 4 x (—1) = 6 (=7)x10=____

i (=5)x (=9) = i (—4)x9=___

8 8x3=___ 8 (=2)x3=___

19: (=5) x 1= 19: (V7)) x8=___

20 (=5)x(=6)=_ 200 6x(-1)=__

o 12x6=__ o 10x (—11)=__

o2 (—10)x7=___ 22: (—11) x 10 =

23 3X (—=12)=__ 23 (—10) x (=12)=___

24: (—6)x0=__ 24: (—11) x (=4)=

5 8x12=__ o AX (—4)=__
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Question 37

25 marks] Question 38 |25 marks]

0: (—12) x (—8) = 96 0 1x (—11) = -11

slxll=__ (=3 x8=___

2 2% 3= 2 2% (=2) =

g(—A)x (-2)=__ g () x(-1)=___

6 (~10)x (=10) = (-2 x(-8)=__

5 (—11) x 2 = sAx(-1)=__

6 (—5)x (=10)=___ 6 3x (—6)=_____

(- x9=___ n(-1)xd=___

8 5 X 8= g (—12)x6=____

o (1) x (—4)=__ 0 6x6=__

0 (—8) X (—4)=___ 0 (<10)x8=___
1 (—6) x (=6)=___ (=2 x (=2)=__
oA X (—6) = (-8 x12=__
3 (—11) x12=__ 3 (—4)x6=____

14 11 x 8 = w (-9 x1l=__
15 (—8) X (—6)=______ 5 10x (—12)=
16 (—6)x3=__ 16: 5 X 7=

mOx (—1)=__ 1 (=8) X (=B)=____
5 (<2) X (—8)=____ s 6x (=) =__
o 1 x (=3) = 190 4 % (—8) =

0 (—2)x0=___ 0 (=T)x (=T) =
o (12)x10=___ 21 (=2) x 2 =

2 (—2)x0=___ 22 (—9) X (=2)=___
23 3 X 3= 23 (—7) x 4 =

2 OX (—9)=___ o (—1)x (~1)=___
25 (—8)x10=____ o5 12x (—2)=
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Question 39 |25 marks] Question 40 [25 marks]

0: 12 x 9 = 108 0 (—8) x 11 = -88

(=) x (-T) = L(=B)x (=5)=___
2 (—10) x 3 = 2 (—10) x (=10) =
g (1) x (=5)=___ 5 10x (-T) =
4: HXx8=_ 4: 2x1=

5 7 x 10 = 5 (—8)x (—6)=___
6 (—3)x(-T) = 6 (—8)x (—6)=___
n(—10)x (-1) = n3x(-1)=__
g I1x1l=_ 8 3x0=__

o Txl=___ o (—11)x7=____
0 2xd=__ 0 8 X (—B)=___

1 hx2=__ e 3x(-)=__
2 (=) x1=___ 2 11x2=__

13 0x12=__ 13 (—8)x12=___
w7 X (=) = W 3x8=__

B (<9 X (—=3)=__ o (—A) xT=___
6 9XT=____ 6 12%x (=11)=__
(=B X T=__ 17 2% (—6) =

s (=) xT=__ s (—4) x (-12)=__
190 1x 9= o Ix (—d)=__
0 dx (—8)=___ 0 (—11)x9=___
o (—8)x3=___ o (1) x11=__
2 2x (—4)=___ 2 TX (=3)=___
23 6% (—9)=___ 23 (—=7) x 2 =

o (—12)xd=___ 2 (—4) X (~8)=___
o (—T)x1=___ 5 3x10=___
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Question 41 |25 marks] Question 42 |25 marks]

0: (—2) x 20 =-40 0: (=9) x4 =-36
LOX3=_ 1 (—10) x 5 =

2 14 % (—11) = 2 18 x (—19) =

3 19x(=20)=__ 3 17 x (—2) =

4 (—1) x 6= 4 (—14) x 1=

5 11 % 13 = 5 (—16) x (—15) =
6 (—5) x 19 = 6: 5% (—19) =

7 (—15) x 6 = 7 0% (—10) =

8 (—16) x 6 = g (—18) x (—1) =
9: (—15) x (—=15) = 9: (—14) x (—=15) =
0: 10x (=17)= 10: 12 x (—16) =

1m: (—=10)x183=___ 11: 0 x 14 =

122 (=9) x (=18) = 12 (—14) x 6 =
13:2x18=__ 13 (—1) x (—8) =
14: (—=19)x19=___ 14: 9x 6=

15 (—17) x (=10) = — 15: (—8) x 20 =

16: 1ox12=__ 16: 7TX5H=

1 4 x17=_____ 17 15 x 19 =

18 (=) x(-4)= 18: (—14) x 13 =
19:20% (=5) = 19: 20 x 12 =

200 bxd=___ 20 (—17) x (—20) =
21 (—=8) x (—4)=__ 21: 20 x (—14) =

22: 11 x (=)= 22: 4 X 3=

23: 6 (=3)=__ 23: 20 x 15 =

24: 11 x20=__ 24: (—8) x 12 =

25 Tx1=__ 25: (—12) x4 =
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Question 43 |25 marks] Question 44 |25 marks]

0: (—20) x (—16) = 320 0: 8 x 17 = 136
L 8x8=__ L (—18) x 16 =
2 (—19) x (=10) = 2 17 x (—10) =
3 13x (—=15)=__ 3 b Xbh=

4 2x15=__ 4 (—18) x 8 =
5 14x15=___ 5 15 X9 =

6: (—4) x (=15) = 6: (—10) x 6 =

7 (-16)x8=___ 7 (—1)x 9=

8 0x20=__ 8 14X 7=

9 (m14)x2=___ 9: (—2) x 13 =
0 11x19=___ 10: (—3) x4 =

1: (—20) x (=2) = 11: (=5) x 8=

2 (—18)x19=__ 12 (—19) x 20 =
13 19x (=7)=_ 13: 11 x (—11) =
4 (=15)x10=__ 14: (—20) x (—16) =
15 (=2)x(—4)= 15 0 x5 =

6 1x(=2)=__ 16: 8 X 17 =

1 Tx(=5)=___ 17 12 x (—13) =
18 Tx3=__ 18: 7% (—11) =
192X (-12)=_ 19: (=5) x (—1) =
200 (—16) x (—=8)=__ 20 (—8) x (—10) =
21: (—11) x (=15) = 21: (—20) x 12 =
22: (—12)x2=__ 22: 12 x (—4) =
23 (—11)x6=___ 23: 14 x (—9) =
24 TX(=15)=__ 24: (—10) x 0 =
2 (—20)x3=__ 25 0 x 10 =
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Question 45

0:

25 marks] Question 46 |25 marks]

0: 13 x (—12) = -156

L (-12)x0=__ LB x6=___
2 0% (—14)=___ 2 14x16=__
3 5% (=7)=_ 3 16x18=__
£16x(=9)=___ £ (—6) x 9 =
5 (—14)x19=___ 5 (=) x(=8)=__
6 2x 18 = 6 (—10)x (=10)=___
n 3% (—16)=___ n (1T % (10) =
g (=5) X (-17)= g 10x (=17)=
9 6xT7T=___ 9 (1) x(=15) =
w0 (=4)x11l=__ w: (-17)x16=___
1 (=2)x6=__ 1m: 8x (=)=
122 8 X 3= 122 0x (=13) =
3 (=15) x (=11)= 3 2x(=2)=__
14: 12 x2= 4: 17x6=___
15 (—17) X (=8) = 15 (-9)x20=___
6: (—3)x3=___ 6: 3X (=16)=__
17 17 x4 = 17 17 x 17 =
18 (—2)x (=)= 18 (—4)x(—4)=—
19 (-16) x13=___ 19: (—13) x(=6)=
20: 12 x 20 = 200 (—17)x3=__
21: 19x (—-10) = 21: 12 x 13 =
22: (—7)x13=___ 22: 17x (—13) =
23 11 x 13 = 03 0% (—12) =
24: (=5) x (=14)=__ 24: (—10) x (=4)=
25 (—12) x (=7) = 25 (—=3)xM4=__
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Question 47 |25 marks] Question 48 [25 marks]
0: 8 x 15 =120 0: 3 X 18 =54
119 x (—10) = Llx (—1) =
2 (—11) x 0 = 2 (=) x (=)=
5 (—14) x 15 = 5 9% (—10) =
4 10 x 3= 4 (-19)x(-9)=
5 (—9) x (—6) = 5 8x 0=
6: 2x 1= 6: 2 x (—6) =
7 3 x (—12) = 7 4x19=
8 18 X (—3) = 8 HXx 17 =
9: (—8) x 17 = 9 (—11) x 7=
10: 1 x(—10) = 10: (—10) x (—=19) =
11: 15 x (—13) = 11: 3x 3=
122 (=7) x (—=10) = 12: 6 X (—=6) =
13 (—13) x (—11) = 13 12x 11 =
14: 10 x (=9) = 14: 2x 10 =
15 (—1) x (—18) = 15: (—20) x 11 =
16: 15 % 3 = 16: (—15) x 18 =
17 7T x (=11) = 17: (—10) x (=2) =
18: 20 x 14 = 18: 3 x (—2) =
19: 4 X (=5) = 19: 17 x (—18) =
20: 9 x (—19) = 20: (—10) x 1=
21: 14 X 3 = 21: 11 X 0 =
22: 3X T = 22: 9 X 14 =
23: 15 x (—=2) = 23: (—6) X (—14) =
24: 5 x (—10) = 24: 4 x 20 =
25: (—3) x 8 = 25: 5 X 8 =
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